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6. Given: J‘ fx)dx = 4, I fix)dx = -1; Find:

J. Axydx = ff(x)dx + SJ‘F(M)J v

4+~
b [ A = —53 £6ddx

~(-0=[1]
c. J.jf(x)dx = O

djj SAx)dx = 5 S ﬁ(bdy
=501 =[5)
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Two Special Definite Integrals

1. L :If(x)dx= O
) b
2[ f(x)a’x:—f £(x) dx

Propertles of Definite Integrals

[ o - j‘@ay +y’r®ax m

e« C b

o[-k Pecais
3 j [7x) + g(x)]dx = \S‘LP(de S(}(Qo\x
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Preservation of Inequality

1. If fiis integrable and nonnegative on [a, 5], then

Oé\fﬂl)dx

2. If fand g are integrable on [a, b] and f{x) < g(x), then

y:F(dex S S:) 3656)(
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HOMEWORK

pg 314 -315; 47
#47f - don't forget properties...
Quiz 5.3 Tomorrow
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